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Answer the following questions
(10 grades)
1. Complete the appropriate cell structure name on the following plant cell:

(Golgi apparatus – Nucleus – Vacuole – cell wall – cytoplasm – Mitochondrion – Rough ER – Smooth ER – chloroplast – plasma membrane – Nucleolus – Vesicle – Ribosomes)
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2. Plants control the hydration of their cells through three steps – mention the steps according to the illustration

A)
B)
C)
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3. Choose the right answer:
I. You’ve already seen the structure of xylem and phloem. How is a redwood tree able to move water from the soil to leaves 100m above the soil? Choose the appropriate theory.
a) Root pressure 

b) cohesion tension
c) vapor movement 

d) capillary action
II. Osmotic potential ((() – the diffusion of liquid water molecules from a ------------- across a -------------------- membrane into a -----------------.
a) selectively permeable 
b) (less water, more solute)
c) permeable
d) (more water, less solute)
III. Pressure --------------- water potential.
a) Decreases 
b) Increases

c) Stabilizes
d) Doesn’t affect

IV. Transpiration (or evapo-transpiration) is the transport of water and minerals from roots to leaves. It involves

a) Absorption at the roots.

b) Capillary action in the xylem vessels.

c) Evaporation at the leaf.
d) All the mentioned above.
4. From which direction will the water flow through the membrane according to the following illustration. 
(no water flow – left to right – right to left)
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5. Read the sentence carefully and determine whether it is true or false:

a) Cell Wall in plants contains chitin.
b) Rough Endoplasmic Reticulum doesn’t contain ribosomes attached to surface and responsible for proteins manufacture.

c) Photosynthesis takes place in the chloroplast and makes cellular food – glucose.
d) The combined effects of solute concentration and physical pressure (cell wall) can be measured as Water Potential.
e) Sink in sugar transport where the sugar starts its journey (either where it is produced or stored).

f) Phloem tissues are dead at maturity.

g) Passive transport is used to load sucrose into phloem tubes against a diffusion gradient.

(BONUS QUESTION)
· Solute Potential (S of any solution at atmospheric pressure is always negative – why?
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